FEKih s (BRKith4a) No.11 SHTHRt 42— (PNEEFFE1)
HKERH EXh ; SH64E4 5238 | $F16%5821 H| $H1646 A 4H
FEIKERZ — (%EE) 9:45 10:35 10:15
KB °C =18 171 212 216
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.06
YO OEEES meg/L|  0.02 <0.002
SOkl Ls meg/L|  0.06 0.016
DHOOOEER meg/L|  0.03 0.005
oJOE/O00A2>  |me/L 0.1 0.002
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.026
k)OO OEFEE mg/L|  0.03 0.012
JOESH/O00A4 |me/L|  0.03 0.008

KooERILL meg/L|  0.09 <0.001

BIRILLTILTER mg/L|  0.08 <0.005

EHEMRUVZDEEY [me/L 1 0.005

4@17':’%“%—'7""&”%0) me/l| 02 0.036
HEVZDIEEY meg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.002
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 8 16 13
AREZREY me/L 500 141
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%’)ﬁ%m% me/L 3 0.6 1.1 1.0
pHIE — | 5.8~8.6 7.3 7.3 7.2
Bk — |BEThHLIE EEihL EELL EELL
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02

& TR BIER mg/L| 0.1 E 0.5 0.5 0.4

e8| 5% Bt o R mg/L 20 6

Bl|E =52 E(TON) — 3 4 A A

e TR . SIEELUELE
BEEGUTITRE)| — %@;oc i -1.1
REXEHE @/m| 2000 3

z TIVHE me/L — 63

o ERmERE 1S/em _ 94 213 168

1& jj)l/:/rbl-\’fj-y mg/L — 21
LNRBRIEE260) | — — 0.008 0.015 0.016




FEKih s (BRKith4a) No.12 IAZIILFEINEDEVNDR (VNEEFFE2)
HKERH £ gy |PoaA2E HcEoAA] HcFoS 98] AiokoH2 B
BKEEZ — | (g E) 9:05 8:15 9:05 11:49
KB °C =18 14.3 20.9 22.4 216
— = 18/ml 100 0 0 0
AGE — [maEnmnce TR iR TR
BEUVZDIEEY mg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁf/ﬁ?’ﬁ “BU | oot <0.001
e me/L 0.6 <0.05
Y OOEFER meg/L|  0.02 <0.002
SOkl Ls meg/L| 006 0.014
CHOOER mg/L|  0.03 0.005
sJaEsoor4y  |mg/L 0.1 0.003
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.025
k)OO OEFEE mg/L|  0.03 0.010
JOESH/O00A4 |me/L|  0.03 0.008

KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 <0.004
HTINS=DLRUED | il o2 0.021
A=x?i
HEVZDIEEY meg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 0.002
TUAVRUVEFDIEEY|me/L]  0.05 <0.001
Bl A4 mg/L 200 9 16 8
AREZREY meg/L 500 68
DIARIY ng/L 10 < <1 <1
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 <
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.6 10 08
pHIE — | 5.8~8.6 7.3 7.4 7.3
Bk — |BEThHLIE BEELL EEaL BBl
KX — |[BaTrunce| BERAL| \ERLL| RBRELL
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.6 0.5 0.6 0.6
e8| 5% Bt o R mg/L 20 4
Bl|E =52 E(TON) — 3 4 A A
e e e _ —ﬁifil&lft _
BEEG 77 E,jjlfj-@gjo‘h iy 14
REXEHE @/m| 2000 0
%7)1/73'41?2 mg/L — 32
o ERmERE 4S/om _ 95 205 102
1&jj)b9@l\’f#> mg/L — 13
LNRBRIEE260) | — — 0.009 0.014 0.009




Bkt R (BCKith )

No.13 HEMRt22—(m)

HKERH EXh B 47644 A 168 | S 716458 70 | 71646 A258
FEIKERZ — (%EE) 11:10 10:28 9:05
KB °C =18 154 16.4 20.9
— = 18/ml 100 0 0 0
AGE — [maEnmnce TR iR TR
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.011
DHOOOEER meg/L|  0.03 0.007
cJoE/OO0A2y  |[mg/L 0.1 0.003
REER mg/L|  0.01 <0.001
k) \OAR mg/L 0.1 0.021
ko 0OOEFES mg/L|  0.03 0.007
JOESH/O00A4 |me/L|  0.03 0.007
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
RTINE=GLRUZD | | g2 0.018
=g
HEVZDIEEY mg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 0.001
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 10 9 9
AREZREY mg/L 500 80
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.8 0.7 0.7
pHIE — | 5.8~8.6 7.3 7.3 7.2
Bk — |BEThHLIE EEihL EEaL BBl
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1LLE 0.6 0.6 0.7
e8| 5% Bt o R mg/L 20 5
Bl|E =52 E(TON) — 3 4 A A
e e e _ —ﬁifiuft B
BRIEGUTITHER p:|§@530l~ i 15
i)
REXEHE @/m| 2000 2
z FILAVE me/L — 38
o ERmERE 1S/em _ 127 112 108
m DL LAFY mg/L — 14
LNRBRIEE260) | — — 0.010 0.010 0.011




FEKih s (BRKith4a) No.14 FrEmMEREUA—(ERE)
%7 FHH XM el %#EIGE-EMEHGEI %%uesgsma SF16E6A250
KB — | (B 9:08 9:15 9:15
KB °C =18 135 14.9 185
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
iul=l JIWWN mg/L 0.06 0.009
DHOOOEER meg/L|  0.03 0.006
cJoE/OO0A2y  |[mg/L 0.1 0.002
REER mg/L|  0.01 <0.001
k) \OAR mg/L 0.1 0.017
ko 0OOEFES mg/L|  0.03 0.006
JOESH/O00A4 |me/L|  0.03 0.006
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
ETI:’%"%_ VLRUED mg/L 0.2 0.016
HEVZDIEEY mg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.002
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 9 8 8
AREZREY mg/L 500 60
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁfﬁ%g%ﬁ*%”_‘f me/L 3 0.7 0.7 0.7
pHIE — | 5.8~8.6 7.3 7.3 7.2
Bk — |BEThHLIE EEihL EELL BBl
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1LLE 0.6 0.6 0.7
e8| 5% Bt o R mg/L 20 5
Bl|E =52 E(TON) — 3 4 A A
e TR . SIEELUELE
BREGUTITER)| — p:|§@50l: i =7
i)
REXEHE @/m| 2000 1
z TILHE mg/L — 29
0) %ﬁ{ﬁﬁg uS/cm J— 95 94 98
1&jj)b9@l\’f#> mg/L — 12
LNRBRIEE260) | — — 0.009 0.009 0.010




FEKih s (BRKith4a) No.15 EFERLAE(EE)
HKERH EXh ; SH64E4 5238 | $F16%5821 H| $H1646 A 4H
FEIKERZ — (%ﬁ%) 8:45 9:40 9:18
KB °C =18 17.9 22.6 232
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
sookiLLs meg/L|  0.06 0.014
DHOOOEER meg/L|  0.03 0.002
cJoE/OO0A2y  |[mg/L 0.1 0.002
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.022
k)OO OEFEE mg/L|  0.03 0.012
JOESH/O00A4 |me/L|  0.03 0.006

KooERILL meg/L|  0.09 <0.001

BIRILLTILTER mg/L|  0.08 <0.005

EHEMRUVZDEEY [me/L 1 0.007

4@17':’%“%—'7""&”%0) me/l| 02 0.026
HEUVZDIEEY meg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.003
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 8 8 8
AREZREY meg/L 500 74
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.6 08 0.7
pHIE — | 5.8~8.6 7.6 7.6 7.7
Bk — |BEThHLIE EEihL EELL EELL
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02

& TR BIER mg/L| 0.1 E 0.4 0.3 0.4

e8| 5% Bt o R mg/L 20 2

Bl|E =52 E(TON) — 3 4 A A

e TR . SIEELUELE
BEEGUTITRE)| — %@;oc i -1.2
REXEHE @/m| 2000 5

2 ZIHIE mg/L| — 32

o ERmERE 4S/om — 95 102 104

1&jj)b9@l\’f#> mg/L — 13
LNRBRIEE260) | — — 0.008 0.010 0.010




Bkt R (BCKith )

No.16 /NEFIR Pl 4 HakFT GER)

HKERH EXh ; SH64E4 5238 | $F16%5821 H| $H1646 A 4H
FEKBFZI — (%ﬁ%) 9:45 9:43 9:36
KB °C =18 178 20.8 23.1
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’f’r “BU | oot <0.001
e me/L 0.6 0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.005
DHOOOEER meg/L|  0.03 0.004
oJOE/O00A2>  |me/L 0.1 0.002
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.011
k)OO OEFEE mg/L|  0.03 0.004
JOETSH/O0A8 |mg/L 0.03 0.004
KJOEHRILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 0.010
HTINS=DLRUED | il o2 <0.004
=g
HEVZDIEEY meg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.012
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 7 7 7
AREZREY meg/L 500 66
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%’)ﬁ%m% me/L 3 0.6 0.6 0.7
pHIE — | 5.8~8.6 7.2 7.1 7.2
Bk — |BEThHLIE EEihL EELL EELL
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01 <0.001
|AKkIOZ—)L mg/L|  0.02 <0.001
& TR BIER mg/L| 0.1LLE 0.6 0.5 0.5
e8| 5% Bt o R mg/L 20 5
Bl|E =52 E(TON) — 3 4 A A
e N . —ﬁifil}li‘t
BEEGUTITRE)| — %\lg@;m: i -2.0
HKEEEME B/m| 2000 4
%7)1/73'”-5 mg/L — 27
0) %ﬁ{ﬁgg uS/cm J— 84 91 94
LNRBRIEE260) | — — 0.013 0.014 0.015




Bkt R (BCKith )

No.17 KRAFEH R 2—(KKH)

%7 FHH EX i %#uef-ﬁmzsa %%ue@.csﬁma %#usjﬁeﬁm
KB — | (B 8:58 8:55 8:51
KB °C =18 18.8 22.2 22.7
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANEOOLIEEY  [me/L]  0.02 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.015
DHOOOEER meg/L|  0.03 0.007
oJOE/O00A2>  |me/L 0.1 0.002
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.025
k)OO OEFEE mg/L|  0.03 0.010
JOESH/O00A4 |me/L|  0.03 0.008
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 0.005
4@17':’%“%—'7""&”%0) me/l| 02 0.040
HEVZDIEEY meg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.002
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 13 16 14
AREZREY me/L 500 142
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%’)ﬁ%m% me/L 3 0.8 1.1 1.0
pHIE — | 5.8~8.6 7.3 7.2 7.2
Bk — |BEThHLIE EEihL EELL BBl
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.6 0.6 0.6
e8| 5% Bt o R mg/L 20 6
Bl|E =52 E(TON) — 3 4 A A
e s . —ﬁifil}lft
BREGUTITER)| — p;l§@230i~ i -1.1
i)
REXEHE @/m| 2000 1
%7)1/73'JF§ mg/L — 64
o ERmERE 4S/om _ 174 218 175
m DL LAFY mg/L — 22
LNRBRIEE260) | — — 0.011 0.017 0.016




FEKih s (BRKith4a) No.18 J\I&FE X%t E Lk (AIFT)
HKERH EXh B 47644 A 168 | S 716458 70 | 71646 A258
FEKBFZI — éﬁg) 10:10 9:07 8:53
KB °C =18 17.7 18.1 235
— = 18/ml 100 0 0 0
AGE — [maEnmnce TR iR TR
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’f’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.011
DHOOOEER meg/L|  0.03 0.008
cJoE/OO0A2y  |[mg/L 0.1 0.004
REER mg/L|  0.01 <0.001
k) \OAR mg/L 0.1 0.024
ko 0OOEFES mg/L|  0.03 0.007
JOESH/O00A4 |me/L|  0.03 0.009

KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
RTINE=GLRUZD | | g2 0.031
=g
HEVZDIEEY mg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.002
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 15 13 12
AREZREY mg/L 500 150
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%ﬁ%m% me/L 3 10 08 0.9
pHIE — | 5.8~8.6 7.3 7.2 7.1
Bk — |BEThHLIE EEihL EELL BBl
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01 0.002
k05— mg/L|  0.02 0.003
& TR BIER mg/L| 0.1LLE 0.6 0.7 0.7
e8| 5% Bt o R mg/L 20 10
Bl|E =52 E(TON) — 3 4 A A
e N . —ﬁifil}li‘t
BREGUTITER)| — p:|§@5301: i -1.0
i)
REXEHE @/m| 2000 1
z FILHE mg/L — 70
o ERmERE 4S/om _ 233 179 144
m DL LAFY mg/L — 25
LNRBRIEE260) | — — 0.014 0.014 0.016




Bkt R (BCKith )

No.19 PfEILTEEZ2—(L/I])

HKERH £ gy |PoatA2E SHcEoAnA ek 98] AToFoA2 B
BKEEZ — | (g E) 9:03 9:53 9:10 9:06
KB °C =18 15.3 22.2 243 241
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY mg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.09
YO OEEES meg/L|  0.02 <0.002
SOkl Ls meg/L| 006 0.020
CHOOER mg/L|  0.03 0.005
sJaEsoor4y  |mg/L 0.1 0.004
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.035
ko 0OOEFES mg/L|  0.03 0.013
JOESH/O00A4 |me/L|  0.03 0.011
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
AERRUZOLEN [mel| <0.004
HTINS=DLRUED | il o2 0.025
A=x?i
HEVZDIEEY meg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 0.003
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 13 16 16
R TR B Y mg/L 500 116
DIARIY ng/L 10 < <1 <1
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 <
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.6 10 10
pHIE — | 5.8~8.6 7.2 7.3 7.2
Bk — |BEThHLIE EEihL EEaL BBl
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.7 0.5 0.4 0.6
e8| 5% Bt o R mg/L 20 8
Bl|E =52 E(TON) — 3 4 A A
e e e _ —ﬁifil&lft _
BEBEGU TR %\lg@;m ii 1.2
REXEHE @/m| 2000 0
%7)1/73'412_ mg/L — 52
o ERmERE 1S/em _ 158 208 188
LNRBRIEE260) | — — 0.011 0.014 0.014




FEKih s (BRKith4a) No.20 ;K RNEHET —THLABR(FEEH)
%7 FHH XM el %#EIGE-EMEHGEI %%uesgsma SF16E6A250
KB — | (B 9:38 9:30 9:19
KB °C =18 172 18.7 233
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.014
DHOOOEER meg/L|  0.03 0.009
cJoE/OO0A2y  |[mg/L 0.1 0.004
REER mg/L|  0.01 <0.001
k) \OAR mg/L 0.1 0.028
ko 0OOEFES mg/L|  0.03 0.008
JOESH/O00A4 |me/L|  0.03 0.010
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
—Eﬁ{é}%— VLRUED mg/L 0.2 0.026
HEVZDIEEY mg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.006
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 16 13 12
AREZREY mg/L 500 160
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%ﬁ%m% me/L 3 10 08 0.9
pHIE — | 5.8~8.6 7.3 7.2 7.1
Bk — |BEThHLIE EEihL EELL BBl
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1LLE 0.5 0.6 0.5
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